Chapter 7
Question 1:

Packetizing at the network layer involves 

Responses:

1) Encapsulating the payload at the source

2) Adds a header that contains the source and destination information

3) Decapsulating the payload at the destination

4) All of the choices are correct

Answer:
4) Correct Answer 

Question 2:

Routers in the path are not allowed to ___________________________.

Responses:

1) fragment the packet they receive

2) decapsulate the packet

3) change source or destination address

4) All of the choices are correct

Answer:
3) Correct Answer 

Question 3:

The network layer in the Internet provides _________________. 

1) comprehensive error and flow control.

2) limited error control, but no flow control.

3) comprehensive error control but limited flow control.

4) All of the choices are correct

Answer:
2) Correct Answer 

Question 4:

In a virtual-circuit approach, the forwarding decision is based on the value of the _____________ field in the packet header.

Responses:

1) source address

2) destination address

3) label

4) None of the choices are correct

Answer:
3) Correct Answer 

Question 5:

In a datagram approach, the forwarding decision is based on the value of the _____________ field in the packet header.

Responses:

1) source address

2) destination address

3) label

4) None of the choices are correct

Answer:
2) Correct Answer 

Question 6:

The performance of a network can be measured in terms of ________. 

Responses:

1) delay

2) throughput

3) packet loss

4) all of the choices are correct

Answer:
4) Correct Answer 

Question 7:

Transmission delay (time) is the ratio of______________________.

Responses:

1) transmission rate to packet length

2) transmission rate to distance

3) packet length to transmission rate

4) processing time to transmission rate

Answer:
3) Correct Answer 

Question 8:

Propagation delay (time) is the ratio of______________________.

Responses:

1) transmission rate to propagation speed

2) propagation speed to distance

3) packet length to propagation speed

4) distance to propagation speed

Answer:
4) Correct Answer 

Question 9:

When the load in the network reaches the network capacity, the packet delay ___________ and the network throughput reaches ______________. 

Responses: 

1) increases; its minimum

2) increases; its maximum 

3) decreases; its minimum 

4) decreases; its maximum

Answer:
2) Correct Answer 

Question 10:

In open-loop congestion control, policies are applied ____________________.

Responses: 

1) to prevent congestion before it happens

2) to alleviate congestion after it happens 

3) to either prevent congestion before it happens or to alleviate congestion after it happens 

4) None of the choices are correct 

Answer:
1) Correct Answer 

Question 11:

The __________________ technique is one of the open-loop congestion policies

Responses: 

1) backpressure

2) choke packet

3) implicit signaling

4) None of the choices are correct 

Answer:
4) Correct Answer 

Question 12:

The__________________ technique is one of the close-loop congestion policies

Responses: 

1) acknowledgment policy

2) choke packet

3) discarding policy

4) None of the choices are correct 

Answer:
2) Correct Answer 

Question 13:

An IPv4 address is normally represented in base ____ in dotted-decimal notation.

Responses:

1) 16

2) 256

3) 10

4) None of the choices are correct

Answer:
2) Correct Answer

Question 14:

In classful addressing, the IPv4 address space is divided into _______ classes.

Responses:

1) 3

2) 4

3) 5

4) None of the choices are correct

Answer:
3) Correct Answer

Question 15:

The number of addresses assigned to an organization in classless addressing _______.

Responses:

1) can be any number

2) must be a multiple of 256

3) must be a power of 2

4) None of the choices are correct 

Answer:
3) Correct Answer

Question 16:

The first address assigned to an organization in classless addressing _______.

Responses:

1) must be evenly divisible by the number of addresses in the organization

2) must be divisible by 128

3) must belong to one of the A, B, or C classes

4) None of the choices are correct 

Answer:
1) Correct Answer

Question 17:

In subnetting, the number of addresses in each subnet must _______.

Responses:

1) be a power of 2

2) be a multiple of 128

3) be divisible by 128

4) None of the choices are correct 

Answer:
1) Correct Answer

Question 18:

What is the default prefix length for class A in CIDR notation?

Responses:

1) 9

2) 8

3) 16

4) None of the choices are correct 

Answer:
2) Correct Answer

Question 19:

What is the default prefix length for class B in CIDR notation?

Responses:

1) 9

2) 8

3) 16

4) None of the choices are correct 

Answer:
3) Correct Answer

Question 20:

What is the default prefix length for class C in CIDR notation?

Responses:

1) 24

2) 8

3) 16

4) None of the choices are correct 

Answer:
1) Correct Answer

Question 21:

DHCP is a (an) ___________ layer protocol. 

Responses:

1) application

2) transport

3) network

4) data-link

Answer:
1) Correct Answer

Question 22:

In DHCP, the client uses ________ port and the server uses _________port.

Responses:

1) an ephemeral; a well-known

2) a well-known; a well-known

3) a well-known; an ephemeral

4) None of the choices are correct

Answer:
2) Correct Answer

Question 23:

DHCP uses the services of _______.

Responses:

1) UDP

2) TCP

3) IP

4) None of the choices are correct

Answer:
1) Correct Answer

Question 24:

_________ allows a site to use a set of private addresses for internal communication and a set of global Internet addresses for communication with the rest of the world.

Responses:

1) DHCP

2) NAT

3) IMCP

4) None of the choices are correct

Answer:
2) Correct Answer

Question 25:

The idea of address aggregation was designed to alleviate the increase in routing table entries when using ________ addressing.

Responses: 

1) classful 

2) classless

3) classful or classless

4) None of the choices are correct 

Answer:
2) Correct Answer

Question 26:

The use of hierarchy in routing tables can  ________  the size of the routing tables.

Responses:

1) reduce

2) increase

3) neither reduce nor increase

4) None of the choices are correct 

Answer:
1) Correct Answer

Question 27:

IP is a _________ protocol.

Responses:

1) connection-oriented unreliable

2) connection-oriented reliable 

3) connectionless unreliable

4) connectionless reliable 

Answer:
3) Correct Answer

Question 28:

An HLEN value of decimal 10 means _______.

Responses:

1) there are 10 bytes of options

2) there are 10 bytes in the header

3) there are 40 bytes of options

4) there are 40 bytes in the header

Answer:
4) Correct Answer

Question 29:

If the fragment offset has a value of 100, it means that _______.

Responses:

1) the datagram has not been fragmented

2) the datagram is 100 bytes in size

3) the first byte of the datagram is byte 800

4) None of the choices are correct 

Answer:
3) Correct Answer

Question 30:

What is needed to determine the number of the last byte of a fragment?

Responses:

1) offset number

2) total length

3) both offset number and the total length

4) None of the choices are correct 

Answer:
3) Correct Answer

Question 31:
The IP header size is _______ bytes long.

Responses:

1) 20 to 60 

2) 20 

3) 60

4) None of the choices are correct

Answer:
1) Correct Answer

Question 32:

Packets in the IP layer are called _________.

Responses:

1) segments

2) datagrams

3) frames

4) None of the choices are correct

Answer:
2) Correct Answer

Question 33:

The total length field defines the total length of the datagram _________.

Responses:

1) including the header

2) excluding the header

3) excluding the option length

4) None of the choices are correct

Answer:
1) Correct Answer

Question 34:

When a datagram is encapsulated in a frame, the total size of the datagram must be less than the _______.

Responses:

1) MUT

2) MAT

3) MTU

4) None of the choices are correct

Answer:
3) Correct Answer

Question 35:

ICMP is a (an) _________ layer protocol.

Responses:

1) application-layer protocol that helps TCP/IP at the network layer

2) transport-layer protocol that helps TCP/IP at the network layer

3) network-layer protocol.

4) data-link layer protocol that helps TCP/IP at the network layer

Answer:
3) Correct Answer

Question 36:

Which of the following is true about ICMP messages?

Responses:

1) An ICMP error message may be generated for an ICMP error message.

2) An ICMP error message may be generated for a fragmented datagram.

3) An ICMP error message may be generated for a multicast datagram.

4) None of the choices are correct

Answer:
4) Correct Answer

Question 37:

When a host moves to a new network, its original address is referred to as __________ . 
Responses:

1) home
2) care-of
3) foreign
4) None of the choices are correct

Answer:
1) Correct Answer

Question 38:

Which of the following addresses are permanent in mobile IP?
1) home
2) care-of
3) foreign
4) None of the choices are correct

Answer:
1) Correct Answer
Question 39:

To communicate with a remote host, a computer needs to go through   __________  phase(s). 
Responses:

1) one
2) two
3) three
4) None of the choices are correct

Answer:
3) Correct Answer

Question 40:

In mobile IP communication, the first phase is called __________ . 
Responses:

1) agent discovery
2) registration
3) data transfer
4) None of the choices are correct

Answer:
1) Correct Answer

Question 41:

In mobile IP communication, the second phase is called __________ . 
Responses:

1) agent discovery
2) registration
3) data transfer
4) None of the choices are correct

Answer:
2) Correct Answer
Question 42:

In mobile IP communication, the third phase is called __________ . 
Responses:

1) agent discovery
2) registration
3) data transfer
4) None of the choices are correct

Answer:
3) Correct Answer

Question 43:

In mobile IP communication, inefficiency in triangle routing is ________   the one in double crossing.
Responses:

1) more severe than
2) less severe than
3) in the same level as
4) None of the choices are correct

Answer:
3) Correct Answer

Question 44:

An IPv6 address is _________ bits long.

Responses:

1) 32

2) 64

3) 128

4) 256

Answer:
3) Correct Answer

Question 45:

An IPv6 address consists of ________ bytes (octets).
Responses:

1) 4

2) 8

3) 16

4) None of the choices are correct

Answer:
3) Correct Answer

Question 46:

In hexadecimal colon notation, a 128-bit address is divided into _______ sections, each _____ hexadecimal digits in length.

Responses:

1) 8; 2

2) 8; 3

3) 8; 4

4) None of the choices are correct

Answer:
3) Correct Answer

Question 47:

An IPv6 address can have up to __________ hexadecimal digits.

Responses:

1) 16

2) 32

3) 8

4) None of the choices are correct

Answer:
2) Correct Answer

Question 48:

In IPv6, the _______ field in the base header restricts the lifetime of a datagram.

Responses:

1) version

2) priority

3) hop limit

4) None of the choices are correct

Answer:
3) Correct Answer

Question 49:

The _________ in IPv6 is designed to provide special handling for a particular flow of data.

Responses:

1) flow label

2) next header

3) hop limit

4) None of the choices are correct

Answer:
1) Correct Answer

Question 50:

When two computers using IPv6 want to communicate but the packet must pass through an IPv4 region, which transition strategy should be used?

Responses:

1) tunneling

2) header translation 

3) either tunneling or header translation

4) None of the choices are correct

Answer:
1) Correct answer

Question 51:

When the majority of the Internet has moved to the IPv6, but some still use IPv4, which transition strategy should be used?

Responses:

1) tunneling

2) header translation 

3) either tunneling or header translation

4) None of the choices are correct

Answer:
2) Correct Answer

Question 52:
The protocols __________________________ in version 4 are combined into one single protocol, ICMPv6.

Responses:

1) ARP and IGMP

2) ICMP and IGMP

3) ICMP, ARP, and IGMP

4) None of the choices are correct

Answer:
3) Correct Answer

Question 53:
The block prefix for global unicast address in IPv6 is __________.

Responses:

1) (110)2

2) (101)2

3) (100)2

4) (001)2

Answer:
4) Correct Answer

Question 54:
The global prefix in IPv6 is __________ bits long.

Responses:

1) 16

2) 32

3) 48

4) 64

Answer:
3) Correct Answer

Question 55:
The subnet identifier in IPv6 is __________ bits long.

Responses:

1) 16

2) 32

3) 48

4) 64

Answer:
1) Correct Answer

Question 56:
The interface identifier in IPv6 is __________ bits long.

Responses:

1) 16

2) 32

3) 48

4) 64

Answer:
4) Correct Answer

Question 57:
The EUI link-layer (physical) address in _________ bits long.

Responses:

1) 16

2) 32

3) 48

4) 64

Answer:
4) Correct Answer

Question 58:
The MAC address in the Ethernet_________ bits long.

Responses:

1) 16

2) 32

3) 48

4) 64

Answer:
3) Correct Answer

Question 59:
The main header of an IPv6 protocol is ___________ bytes.

Responses:

1) 20

2) 40

3) 60

4) 80

Answer:
2) Correct Answer
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